SA FaH
HE: EMQ MR 2D YEHSYHYSA/5Y - 52
el Bt 3 | (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
4t 23,245,461 21,628,120 1,617,341
= 7,268,716
7l 9,061,971
< 6,914,774
F4Y M= 1) YIS/ s - 5F) 23,200,989 21,595,700 1,605,289
= 7,268,716
D) 9,061,971
& 6,870,302
et @335 |4 500, 100 518,000 A17,900
8 SOotXMA E(FIOEFRR) 20,000 60,000 240,000
308 AtXIEHMSOIH 20,000 60,000 240,000
01 IXSHMBSEES 20,000 60,000 240,000
O8® SOtXI M AT 20,000
SIRE SN 120,600 187,000 A\66,400
202 04Hl 7,000 7,000 0
01 =Wl 7,000 7,000 0
Ot gFFd 7,000
308 AtXIEHMSOIH 113,600 180,000 266,400
01 HIXHMBYELS 113,600 180,000 66,400
Ost*ESHE 113,600
JEete SEEHE XML 319,500 100,000 219,500
308 X HMSOIH 287,500 100,000 187,500
01 HIXSHMBSEXS 287,500 100,000 187,500
OSEEME JXIHM1 287,500
403 MHAIHS 201 32,000 0 32,000
01 HXSHMA2Ex 32,000 0 32,000
OLBIN XEE DB Fot= o 32,000
RN EHZEY 40,000 50,000 210,000
307 el2tol & 40,000 0 40,000
04 QIZHHALAFRE 2 & 40,000 0 40,000
OZAFLZ HZE{Y 40,000
Hs - gE - ddE |4 274,400 366,000 291,600
ZHsIH J|=835 HHSAE A& 60,000 60,000 0
403 NUHXIEHHS =201 A 60,000 60,000 0
01 XS ExE 60,000 60,000 0
OYAsIt JI=8s HWSAE X3 60,000
Ssaty 3gery X3 70,000 100,000 A30,000
308 AtXIHMSOIH 70,000 100,000 30,000
01 HIXHMBSELS 70,000 100,000 30,000
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Ol U - UE - SAMY SH (S91:&8)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
R 70,000
Y= B3Y dd 144,400 206,000 261,600
202 o4l 6,000 6,000 0
01 =Wl 6,000 6,000 0
OHFYE AY HMAF HREZ 6,000
308 AtXIEHMSOIH 138,400 200,000 261,600
01 IXSHMBYEES 138,400 200,000 261,600
ogdguddlst & 138,400
FTIA LHS Z2d= H3t 1,757,103 1,209, 100 548,003
D) 200,000
= 1,557,103
dAHSIt 23N 105,103 183,000 ANTT,897
403 MHAIHS 201 105,103 183,000 ANTT,897
01 XM= E X 105,103 183,000 NTT,897
O A= BHH 105,103
FMNESZxLd 31,500 63,000 A31,500
403 RRISHSA201A 31,500 0 31,500
01 HXSHMA2Ex 31,500 0 31,500
OXME=E ANEXE 31,500
S& ATE & 24 200,000 323,000 A 123,000
403 NUHXIEHHS =01 A 200,000 323,000 /123,000
01 XS Ex 200,000 323,000 123,000
OXlsg =4&AlE Nd 200,000
SYSOHA Mah & HISAE N (=1) 260,000 0 260,000
D) 200,000
S 60,000
403 MHRISHSA201A 260,000 0 260,000
D) 200,000
T 60,000
01 HXSHMA2EE 260,000 0 260,000
ORES0Ada 2 HISAIZXE AL 260,000
D) 200,000
S 60,000
G=sR s eldd X 270,500 157,500 113,000
403 MHAIHSAHZ01A 270,500 157,500 113,000
01 XM= E X 270,500 157,500 113,000
QIIEERXcIEHl K& 270,500
ZAMNE THEH =0 2 A X 276,000 276,100 A100
202 ol 6,000 6,100 A100
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01 =UWo 6,000 6,100 A100
OAtzdaD|gr HE X 6,000
308 AFAIHMSOIH 270,000 270,000 0
01 HXSHMBSEES 270,000 270,000 0
OZALE THHH 20 & Mok X2 270,000
HE = ZAME MEBIEX AlE =4 60,000 0 60,000
308 AtXIHMSOIH 60,000 0 60,000
01 HIXHMBSELS 60,000 0 60,000
OHZ = XZAE THHHEX AIEEH 60,000
X ZAIE MAHEH] A& 272,000 0 272,000
403 RXIEHHSA=01 A 272,000 0 272,000
01 HXSHMA2E xR 272,000 0 272,000
ORFA A2 darddl N2 272,000
dEsIt AME Mbfus X 26,000 0 26,000
201 €erE gl 8,000 0 8,000
03 AH= S 8,000 0 8,000
OZESIt ZAME MHHW=E X2 8,000
308 AtXIEHMSOIH 18,000 0 18,000
01 HIXHMBSELS 18,000 0 18,000
OZFSsIt Atz Mulus K& 18,000
Al EESIH IIETE MHIA X2 66,000 59,000 7,000
308 AtXIEHMSOIE 66,000 59,000 7,000
01 HXSHMBSEES 66,000 59,000 7,000
OSHN &=t HFI= NI~ XA 66,000
SO0HX £AHE ol 30,000 30,000 0
308 AtXIHMSOIH 30,000 30,000 0
01 HIXHMBSEXS 30,000 30,000 0
O&O0HX €At ol 30,000
StRAAMSIH o HOHEY £X 160,000 80,000 80,000
403 MRISHSA201A 160,000 80,000 80,000
01 HXSHMA2E xR 160,000 80,000 80,000
Ogtd s Ao Sy &X 160,000
Sttt ZEoE X3 7,690,056 7,229,760 460,296
7l 5,970,330
= 1,719,726
ZdESAMF AU 152,000 162,000 10,000
308 AFAIHMSOIH 152,000 162,000 210,000
01 IXHMBSEXS 152,000 162,000 210,000
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e =AMSIF BYOry XY CERED)
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2AH -3 S2A(ZH) - MEAIY - BHES 0f] Ao @EOEH Hns2
| PERERNERE 152,000
EAAISSEUSAI (2 D) 1,500,000 1,132,000 368,000
J| 1,500,000
403 KHRISHHIS KH=0l A 1,500,000 1,132,000 368,000
Jl 1,500,000
01 ARSI 22X 1,500,000 1,132,000 368,000
OEMAAESUHSAIY 1,500,000
J| 1,500,000
st SOHE KK (=2D) 496,512 0 496,512
ol 438,000
[=4 58,512
308 AHXISHS 0l A 496,512 0 496,512
ol 438,000
[=4 58,512
01 AIXIGHMBABEZ 496,512 0 496,512
OstM SOHHE X 496,512
ol 438,000
[=4 58,512
SPNRRIAN(ZD) 2,283,644 2,283,644 0
ol 2,014,980
[=4 268,664
308 AHXIERIS 0l & 2,283,644 2,283,644 0
ol 2,014,980
[=4 268,664
01 AIXISGHMBABEZ 2,283,644 2,283,644 0
ostnRezAl 1 2,283,644
ol 2,014,980
[=4 268,664
IIENNEE XA 350,000 350,000 0
308 KX SIS0l & 350,000 350,000 0
01 AXISHBEAEEZ 350,000 350,000 0
ON=EMoEs XA 350,000
EAsI E20] X2 150,000 120,400 29,600
308 KX SHH S 01 & 150,000 120,400 29,600
Ol AXICHBAEEZ 150,000 120,400 29,600
O=AHsIE €200 X 150,000
EANAIE ®IIOHERT XA 15,000 15,000 0
308 AHXI A SO0 & 15,000 15,000 0
01 AXISHBAEEZ 15,000 15,000 0
OFIIAIA otd =HA 15,000
22 EZE HESA 20,000 20,000 0
308 XX SIS0l & 20,000 20,000 0
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01 IXEHBAEES 20,000 20,000 0
OZd EEE 34 20,000
TAIZMAD|EE B E(=21) 2,588,900 2,588,900 0
| 2,017,350
= 571,550
308 AtXIHHSO0IH 2,401,700 2,401,700 0
| 1,900,350
T 501,350
01 IXEHBAEES 2,401,700 2,401,700 0
OAMZelXl HZdl & BX - HE AL 2,401,700
| 1,900,350
T 501,350
403 XXM S X201 & 187,200 187,200 0
| 117,000
T 70,200
01 AXESHMA2E R 187,200 187,200 0
O3 Z A EHl XA 187,200
| 117,000
o= 70,200
SASEY-EN 22 4 14,000 14,000 0
307 QI2+0I A 14,000 14,000 0
04 CIZHHAIAIH E X 14,000 14,000 0
OF4A2 BHEN 232 A 14,000
HRLSEHE SLIA L3 A 120,000 250,000 A130,000
308 At XIHHSO0IH 120,000 250,000 A 130,000
01 IXEHBEAELS 120,000 250,000 A 130,000
OZ3 Ad=EHE GLIA L3 120,000
=2 HE - ot d st 574,277 614,517 240,240
= 16,000
| 390,764
T 167,513
ADI01FFFA(=2) 395,957 395,957 0
| 329,964
& 65,993
308 AtXIHHSOIH 395,957 395,957 0
| 329,964
& 65,993
01 IXESHBAEES 395,957 395,957 0
OH B EY| 395,957
| 329,964
& 65,993
E40H2 HACCP 2148 KR (S N-SSMAER) 69,920 105,840 235,920
| 60,800
& 9,120




S B

By B4 M2 2D YESH(SYHRYAL/5Y - 5E)
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SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
308 At XIHHSOIH 69,920 105,840 235,920
| 60,800
= 9,120
01 IXESHBAEES 69,920 105,840 235,920
O=4= HACCP 2148 XI& 69,920
| 60,800
< 9,120
S4s0E - SMUSEHE HACCP X 90,000 99,000 A9,000
403 UHXISHHSAHE01 A 90,000 99,000 A9,000
01 AXSHMA2E R 90,000 99,000 A9,000
OFLsIH - SMUSHHE HACCP X 90,000
S4H2 HACCP 248 XIR(SD-ASZYAZUHEA) 18,400 13,720 4,680
= 16,000
o= 2,400
308 At XISHHSOIH 18,400 13,720 4,680
= 16,000
o= 2,400
01 IXEHBEAELS 18,400 13,720 4,680
OF4&2 HACCP 2148 XI& 18,400
= 16,000
o= 2,400
NHIts & S8 54 1,421,700 1,449,300 A27,600
| 918,700
o= 503,000
SNsHE SFMH 72,000 86,400 A 14,400
403 MRS S K201 A 72,000 86,400 A 14,400
01 AXISHMA=2E L 72,000 86,400 A 14,400
OFt=sT M 72,000
IIEREHMelAE X&(=1) 1,128,800 1,128,800 0
| 918,700
< 210,100
308 AtXIHHSOIH 600,000 600,000 0
| 500,000
< 100,000
01 UAXSHMBAEES 600,000 600,000 0
OS2l A L (U A ELH|) 600,000
| 500,000
< 100,000
403 UHXISHHSAHE01 A 528,800 528,800 0
| 418,700
< 110,100
01 AXISHMA=2EEX 528,800 528,800 0
OIt=2=HMelAld 528,800
| 418,700
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FE: B4 ®2 KD YEH (YRS /S -5
o9l XBIls AEE B4 84 (e dE)
SA - ZH - ESA(E) - MRAY - BES 0l st e Rz
| = 110,100
N=EER 018 243t 106,900 210,100 A103,200
202 ¢4l 6,100 6,100 0
1 =W 6,100 6,100 0
OJt=EEL N3 ol =& 6,100
308 At XIHHSOIH 100,800 204,000 A 103,200
01 IXEHBAEES 100,800 204,000 A 103,200
OJE=2R 0|82 43t 100,800
HHIMEEX OI2EE8 M 24,000 24,000 0
403 MRS S K201 A 24,000 24,000 0
01 AXISHMA=2E L 24,000 24,000 0
OQUHIMEX 0|28 M1 24,000
IIERR(AHR) gaAd X 90,000 0 90,000
403 XIS S AHE01 A 90,000 0 90,000
01 AXSHMA2E R 90,000 0 90,000
OJ=ER(AZ)LEAME X 90,000
sgd =8 10,983,353 10,209,023 774,330
= 7,252,716
| 1,582,177
< 2,148,460
IIEgAEAY X (22) 5,862,540 5,252,610 609,930
= 5,109,516
< 753,024
308 At XIHHSOIH 5,862,540 5,252,610 609,930
= 5,109,516
= 753,024
01 UAXSHMBAEES 5,862,540 5,252,610 609,930
OJIELAAIS (H A 5,862,540
= 5,109,516
< 753,024
IIEZEY 2B A (2) 985,653 789,913 195,740
Jl 821,377
< 164,276
308 AtXIHHSOIH 985,653 789,913 195,740
Il 821,377
= 164,276
01 UAXSHMBAEES 985,653 789,913 195,740
ONEEHEIEAMNY 985,653
Jl 821,377
< 164,276
IIEMEAZII A (2 1) 810,000 717,000 93,000
Jl 486,000
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S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
[ 324,000
307 212t01 & 810,000 717,000 93,000
D) 486,000
= 324,000
02 UHBHAIHE X 810,000 717,000 93,000
OJtsfddg=2s & 810,000
J 486,000
= 324,000
CEIMNI2E (D) 458,000 458,000 0
D) 274,800
= 183,200
307 212t01 & 458,000 458,000 0
D) 274,800
= 183,200
02 UHBHAIHE X 458,000 458,000 0
OE=adAME=E XA 458,000
D) 274,800
= 183,200
gz 243 NE(R1) 2,137,500 2,137,500 0
= 1,900,000
= 237,500
308 AtXIHMSOIH 2,137,500 2,137,500 0
= 1,900,000
= 237,500
01 HIXHMBYELS 2,137,500 2,137,500 0
O&XZE 2Ed= 2,137,500
= 1,900,000
= 237,500
HEASEA X N (=12) 316,160 325,000 A8,840
= 243,200
= 72,960
403 MHAIHS 201 316,160 325,000 8,840
= 243,200
= 72,960
01 HXSHMA2Ex 316,160 325,000 A\8,840
ONBLSEA £X XNE 316,160
= 243,200
= 72,960
2AHNLESA=H X 27,000 235,000 A208,000
202 04Hl 11,000 11,000 0
01 =Wl 11,000 11,000 0
OJ=Egy gy 11,000
308 AtXIEHMSOIH 16,000 224,000 208,000
01 HIXHMBSELS 16,000 224,000 208,000
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el JlEge £ (= RED
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SA - ZH - ESA(E) - MRAY - BES 0l st e Rz
oZdY HYZSAl=Hl K& 16,000
P XEHYEE A=245E KR 35,000 0 35,000
308 At XIHHSOIH 35,000 0 35,000
01 IXEHBEAELS 35,000 0 35,000
OsJt AHYAE ~2=24F N2 35,000
g9 s 2xd X2 120,000 0 120,000
308 AtXIHHSOIH 120,000 0 120,000
01 XSS AEES 120,000 0 120,000
OJEEEY HLES Ex2 N 120,000
ASYAAE S5 L HA 45,000 45,000 0
M=8l 45,000 45,000 0
M= 4l 45,000 45,000 0
OSYAAET S5 ¥ A 45,000
g ANE K& 45,000 30,000 15,000
403 XIS S AHE01 A 45,000 30,000 15,000
01 AXISHMA=E X 45,000 30,000 15,000
OXHES A=T| EX 45,000
RIsSE 25 - 22 K& 100,000 100,000 0
ARSI 100,000 100,000 0
RSB EES 100,000 100,000 0
oORJIs=E B2 100,000
== SEM X& 10,000 15,000 A5,000
308 At XIHHSO0IH 10,000 15,000 A5,000
01 IXEHBAELS 10,000 15,000 A5,000
otteis= sEM N 10,000
A seksdE 215 K& 22,500 45,000 222,500
X EH S =0l & 22,500 45,000 222,500
PADNR=S PR 22,500 45,000 222,500
OsS==X FAL & A4 X 22,500
2 Ol =43t At 9,000 0 9,000
NXSHHSOIA 9,000 0 9,000
ANXNSHHBAEES 9,000 0 9,000
OZ 20 S43 At 9,000
e BI(Z&2H) (O1EH/DIE 44,472 32,420 12,052
44,472 32,420 12,052
2g JI=Z&l 44472 32,420 12,052
Let2dd| 27,072 22,220 4,852
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chel: J123d| (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
01 At 22l bl 27,072 22,220 4,852
OFN2E AtR22(H] 27,072
202 (44l 13,200 6,000 7,200
01 =LHOYI 13,200 6,000 7,200
fA2E S 13,200
203 R F&H] 4,200 4,200 0
04 RN2ILRFAH 4,200 4,200 0
©302! Olat 350,000& 12 4,200




